
Übungsaufgaben: Arbeit, Energie und Leistung 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Lösungen: 

1. WHub = 280N 12m = 3360N 

2. Energie ist gespeicherte Arbeit (E = W);   

    FG = 30000kg  9,81 N/kg   =  294300N; 

    E = 294300N  60m  = 17658000 J (= 18 MJ) 

3. Von 220m auf 680m sind 460m.    FG = 52kg  9,81 N/kg  = 510N; 

    E = 510N  460m  = 234600J (= 235 kJ) 

4. Höhe der vier Stockwerke:  4  3,5m = 14m; 

    WHub = 9300N  14m = 130200J (= 130 kJ) 

5. WHub = 12000N  1,75m   = 21000 J;    P = 21000J / 15s     = 1400 W (= 1,4 kW)   

6.  P = W/t;   W = P  t;  W = 13000W 1800s  = 23400000 J (= 23,4 MJ) 

7.  WHub = 880N  1000m  = 880000 J; 

     P = 880000J / 18000s   = 48,9 W 


